
IN
W

E
S

T
O

R
:

T
E

M
A

T
 R

Y
S

U
N

K
U

:

D
A

T
A

:
0

2
. 2

0
1

9
r.

K
o

p
io

w
a

n
ie

 i w
yk

o
rzy

styw
a

n
ie

 n
in

ie
jsze

g
o

 ry
su

n
k

u
 lu

b
 je

g
o

 czę
ści

b
e

z zg
o

d
y a

u
to

ra
  je

st za
b

ro
n

io
n

e
.

L
O

K
A

L
IZ

A
C

J
A

 IN
W

E
S

T
Y

C
J

I:

S
T

A
D

IU
M

 D
O

K
U

M
E

N
T

A
C

JI: P
R

O
JE

K
T

 B
U

D
O

W
L
A

N
Y

IN
S

T
A

LA
C

JA
 W

O
D

.-K
A

N
. - R

Z
U

T
 I P

IĘ
T

R
A

P
R

O
JE

K
T R

O
ZB

U
D

O
W

Y
 W

R
AZ ZE

 ZM
IA

N
Ą

 S
P

O
S

O
B

U
U

ŻY
TKO

W
A

N
IA

 B
U

D
Y

N
K

U
 N

A C
E

LE
 C

EN
TR

U
M

 ED
U

KA
C

JI
E

K
O

LO
G

IC
ZN

E
J 

      P
B

_
W

K
_

1
1

G
M

IN
A

 R
A

D
Z

IE
C

H
O

W
Y

 - W
IE

P
R

Z
W

IE
P

R
Z

 7
0

0
3

4
-3

8
1

 R
A

D
Z

IE
C

H
O

W
Y

G
M

IN
A

 R
A

D
Z

IE
C

H
O

W
Y

 W
IE

P
R

Z
W

IE
P

R
Z

D
Z

IA
ŁK

I  N
R

 6
2

4
/1

  6
2

4
/2

1
:1

0
0

      R
Y

S
 N

R

K
R

E
A

T
O

R
  S

T
U

D
IO

 P
R

O
J
E

K
T

O
W

E
E

L
Ż

B
IE

T
A

 B
Ł
E

S
Z

Y
Ń

S
K

A
    P

ysko
w

ice
 4

4
-1

2
0

u
l.G

e
n
.S

iko
rskie

g
o
 1

2

C
R

E
A

T
IV

E
 T

O
W

E
R

 P
A

W
E

Ł
 G

A
Ł

E
C

K
I

P
R

O
JE

K
T

W
A

Ł
:  M

G
R

 IN
Ż

. G
R

Z
E

G
O

R
Z

 K
U

B
A

N
E

K
U

p
ra

w
n

ie
n
ia

 b
e

z o
g
ra

n
icze

ń
 w

 sp
e

cja
ln

o
ści sa

n
ita

rn
e

j
N

R
 S

L
K

/5
8
6
9

/P
W

B
S

/1
5

S
P

R
A

W
D

Z
IŁ

:  M
G

R
 IN

Ż
. M

A
R

IA
N

 B
L
A

C
H

A
U

p
ra

w
n
ie

n
ia

 b
e
z o

g
ra

n
icze

ń
 w

 sp
e
cja

ln
o

ści sa
n
ita

rn
e
j

N
R

 U
P

. S
L
K

/6
3
1
4
/P

W
B

S
/1

6

L
e
g

e
n

d
a

- proj. przew
ody w

ody zim
nej

- proj. przew
ody w

ody ciepłej
- proj. przew

ód w
ody cyrkulacyjnej

- proj. przew
ody kanalizacji sanitarnej

- proj. przew
ody odprow

adzające skropliny
- proj. pion kanlizacyjny / w

odny
- proj. syfon dla instalacji odprow

adzenia skroplin

~
~

S
1
 / W

1 ~
~

s

~
~

~~~~~~

~
~

~
~

~

~~

dn 16x2
20 m

m

dn 16x2
20 m

m

dn 16x2
20 m

m

dn 16x2
20 m

m

dn 16x2
20 m

m

dn 16x2
20 m

m

dn 16x2
20 m

m

dn 16x2
20 m

m
dn 16x2
20 m

m
dn 16x2
20 m

m
dn 25x2,5
20 m

m

S1
S2

W
1

S3

dn 20x2
20 m

m

dn 20x2
20 m

m

i=3%
PVC50

s s

s
s

s
s

s s

s
s

s s s s s

PP
Ø

25

P
P

Ø
25

AA

IV

s s s s s s s s

s s s s

s s s

s ss

s s

s s

s

s s

ss

s

ss

s

ss

s
s

ss

s
s

ss

s
s

s

ss
s

s
s

s
ss

s
s

s
s

s
ss

s
s

s
s

s
s s

s
s

s
s

s
s

s
s

ss
s

s
s

s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s

s
ss

s
s

s
s

s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss

s
s

s

s
ss

s
s

s
s

ss
s

s
ss

s

s
ss

s

s

ss

ss

ss

s

ss

ss

ss

sss

sss

ssssss

sssss

s s s s s s s s s s s s s s

s

s

s

ss

s

s

s
s

s

s

s s

s

s

s

s
s

s
s

s
s

s
s

s
s

s
s

s
s

s s s s s s

s s s s s s

s ss s s s

s s s ss s

s s s s ss

s s s s s s s

s s s s s s s s ss s s s s s s ss s s s s s s s ss

s s s s s s ss

s s s s s s

ss s s s

s s ss s

s s s s

ss s s

s s s s

s s s s

s ss s

s s s s

ss s s

s s s s

s s s s

s s

sssssssss

ssss

sss

sss

ss

ss

ss

ss

ss

s

ss

ss

s
ss

s

s

ss

s
ss

s

s

s
ss

s

s
ss

s
s

s
s

s
s

s
ss

s

s
s

ss
s

s

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

s

s
ss

s
s

s

s
s

ss
s

s
s

s
s

s
s

s

s
ss

s
s

s
s

ss

ss
s

s
s s

s

s
s s

s
s

s
s s

s
s s

s

ss

s

ss

s

ss

s

s s

s s

ss

s s

s s

ss s

s s

ss s

s s s s s s

s ss s s s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

s
s

s
s

ss
s

ss
s

s
s

s

s
s

s
s

s
s

ss
s

s
s

ss
s

s
s

s
s

s

s
s

s

ss

s
s

s
s

s s

s s

s s

s s

s s s

ss s

s s s s

s s s

s s s s

s s s s s

s s s s s s

s ss s ss s

s s s s s s ss s s s s s s s s s s ss s s s s s s s s s s s ss s s s

s s s ss s s s s

s s s s s s

s s s s s s

ss s s s s

s s s

ss s s

s s s

s s s s

s ss

s s s s

s ss

s s s s

ss s

s

ssss

ssss

ssss

sssss

ssss

ssss

ssss

sssss

sssss

ssssss

sssssss

ssssssssss

sssssssssssssssssssssssssss

ssssssssss

ssssss

sssss

ssss

ssss

sss

ssss

sss

ss

ss

ss

ss

s

s
ss

s

s
ss

s
s

ss
s

s
s

s
s

s
s

s
s

s
s

ss
s

s
s

s s
s

s
s

s

s
s

s
s

s
ss

s
s

s

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s

s
s

s
ss

s

s
s

s
s

s
s

s

s
s

s
ss

s
s

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

s
s

s
ss

s
s

s

s
s

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
ss

s
s

s
s

s
s

s
ss

s
ss

s
s

s
s

s
s

ss
s

s
s

s
ss

s
s

s
s

s
ss

s
s

s s s

s s ss s s

s s s s ss

s s s s s s

ss s s s s

s ss s s

s s s s ss s s s s s s

s ss s s s s s s ss s s s s

s s s ss s s s s

s s ss s s s

s s s ss s

s s s s s

s s s s

s s ss

s s s s

ss s s

s s s s

s s s s

s s ss

s s s s

ss s s

s s s s

B
a

lu
stra

d
a

 p
e

łn
a

 h
 1

1
0

 cm

B
a

lu
stra

d
a
 p

e
łn

a
 h

 1
1
0

 cm

G
R

A
N

IC
A

 D
Z

IA
Ł

K
I

A
B B

I
I

IV

III

H
=

3
0

0
cm

A

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

s

ss

ss

s

ss

s

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

s

s s

ss

s

ss

s

s s

ss

s

ss

s

s s

ss
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

+
3

.4
5

II

A

s

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

s

ss

ss

s

ss

s

ss

s

s s

s

s s

s

s s

s s

s

s s

s

s s

s s

s

s s

s

s s

s s

s

s s

s

s s

s

s s

s s

s

s s

s

s s

s s

s

s s

s

s s

s s

s

s ss
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

+
3
.4

5

A
1

B
1

I.1
I.1

A
1

B
1

IV
.1

IV
.1

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

ssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s

C C

III

A
II

s

ss

s

ss

s

ss

ss

s

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

s

s s

s

s s

s

ss

s s

s

s s

s

ss

s s

s

s s

s

ss

s s

s

s s

s

ss

s s

s

s s

s

ss

s s

s

s s

s

s s

s s

s

s s

s

s ss
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s +
1

.7
2
5

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

II

sssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

ssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s

s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

ssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s

s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s

s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

sssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss

ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

sssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss s s s s s s s ss s s s s

s s s ss s s s s s s ss s s s

s s s ss s

s s s s s s

s s s s s s

s ss s s

s s s ss s

s s s s s

s s s

s s ss

s s s

s s ss

s s s

s ss s

s s s

ss s s

s s s

s s

s s s

s s

s ss

s s

s ss

s s

s ss

s s

s ss

s s s

ss

s s

ss

s s

ss

s s

s s

s s

s s

s s

s s

s s

s s

s s

s s

ss

s s

ss

s s

s

s s

s s

s

s s

ss

s s

s

s s

s s

s

s s

ss

s s

s

ss

s

ss

s
s s

s
s s

s

ss

s

ss

s
s s

s
s s

s

ss

s

ss

s
s s

s
s s

s

s
s s

s

s
ss

s
s s

s

s
s s

s

s
s s

s

s
s s

s

s
s s

s

s
s s

s
s

s
s s

s
s

ss

s
s

s

ss

s
s

s

ss
s

s
s

ss
s

s
s

ss
s

s
s

s

ss
s

s

s
s

ss

s
s

s

s
ss

s

s
s

s

ss
s

s

s
s

s

ss
s

s

s
s

s
ss

s

s
s

s
s

ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

Hp=0.00cm

PROJEKTOWANE

NADPROŻE

Hp=0.00cm

PROJEKTOWANE

NADPROŻE

P
R

O
JE

K
T

O
W

A
N

E
N

A
D

P
R

O
Ż

E
P

R
O

JE
K

T
O

W
A

N
E

N
A

D
P

R
O

Ż
E

3
0

1
0

 X
 H

1
7

.2
5

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

s

ss

s s

s

ss

s

ss

s s

s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss +
1

.7
2

5

3
0

1
0

 X
 H

1
7

.2
5

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

sssssssssssssssssssssssssssssssssssssssss

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss

s s s s ss s s s s s s ss s s s s s s s ss s s s s s s s ss s s s s s s s ss0.2

s

s

s

s

ss

s

s

s

s

s

s

sssssssssssssss
s

s
s

s
s

ss
s

s
s

s
s s s s ss s s s s s s s s

ss

s

s

s

s

s

s

s

ss

s

s

sssssssssssss

s
ss

s
s

s
s

s
s

s
ss

s

s s s ss s s s s s s s s

s

ss

s

s

s

s

s

s

s

ss

s

sssssssssssss

s
ss

s
s

s
s

s
s

ss
s

s

s s s ss s s s s s s s s

s

s

s

s

s

s

s

s

ss

s

s

s

sssssssssssss

s
s

s
ss

s
s

s
s

s
s

ss

s s s ss s s s s s s s ss

s

s

s

s

s

s

s

ss

s

s

s

sssssssssssss

s
s

s
ss

s
s

s
s

s
s

ss

s ss s s s s s s s ss s

s

s

s

s

ss

s

s

s

s

s

s

sssssssssssssss
s

s
s

s
s

ss
s

s
s

s
s s ss s s s s s s s ss s

ss

s

s

s

s

s

s

s

ss

s

s

sssssssssssss

s
ss

s
s

s
s

s
s

s
ss

s

s ss s s s s s s s ss s

s

ss

s

s

s

s

s

s

s

ss

s

sssssssssssss

s
ss

s
s

s
s

s
s

ss
s

s

s s ss s s s s s s ss s

s

ss

s

s

s

s

s

s

s

ss

s

sssssssssssss

s
ss

s
s

s
s

s
s

ss
s

s

ss s s s s s s s ss s s

ss

s

s

s

s

s

s

s

ss

s

s

sssssssssssss

s
ss

s
s

s
s

s
s

s
ss

s

ss s s s s s s s ss s s

s

s

s

s

ss

s

s

s

s

s

s

sssssssssssssss
s

s
s

s
s

ss
s

s
s

s
s ss s s s s s s s ss s s

s

s

s

s

s

s

s

s

ss

s

s

s

sssssssssssss

s
s

s
ss

s
s

s
s

s
s

ss

ss s s s s s s s ss s s s

s

s

s

s

s

s

s

ss

s

s

s

s s s ss s s s s s s ss

s
s

s
ss

s
s

s
s

s
s

ss

sssssssssssss

s

s

s

s

ss

s

s

s

s

s

s

s s s s ss s s s s s s ss s
s

s
s

s
s

ss
s

s
s

s
s

sssssssssssss

ss

s

s

s

s

s

s

s

ss

s

s

s s s ss s s s s s s ss

s
ss

s
s

s
s

s
s

s
ss

s

sssssssssssss

s

s

s

s

s

ss

s

s

s

s

s

sssssssssssssss
s

s
s

s
ss

s
s

s
s

s
s ss s s s s s s s ss s s s

s

s

s

s

ss

s

s

s

s

s

sssssssssssssss
s

s
s

s
ss

s
s

s
s

s
s s s s ss s s s s s s s s

s

s

s

s

ss

s

s

s

s

s

s

sssssssssssssss
s

s
s

s
s

s
ss

s
s

s
s

s s s ss s s s s s s s s

s

s

s

s

ss

s

s

s

s

s

s

sssssssssssssss
s

s
s

s
s

s
ss

s
s

s
s

ss s s s s s s s ss s s

P
-1

P
-2

P
-3

P
-4

P
-5

s

s

s

s

s

ss

s

s

s

s

s

sssssssssssssss
s

s
s

s
s

ss
s

s
s

s
s s s s ss s s s s s s s ss

s

s

s

s

ss

s

s

s

s

s

sssssssssssssss
s

s
s

s
s

ss
s

s
s

s
s s ss s s s s s s s ss s

s s

s s s s s s ss s s s s s s s
s s s s s s s s ss s s s

s s s ss

s s s s s

ss s s s

s s ss s

s s s s s

ss s s

s s s

s s s

s s s

s s s

s ss

s s s

s ss

s s s

ss s

s s s

ss

s s

ss s

s s

s s

s s

s s

s ss

s s

ss

s s

s s

s s s

s

s s

ss

s s

s

s s

s s

ss

s s

s

s s

s s

s s

s

s s

s s

ss

s
s s

s
s s

s

s s
s

ss

s
s s

s
s s

s

s s
s

ss

s

ss

s
s s

s

s
s s

s

s
s s

s

s
s s

s

s
ss

s
s

ss

s
s

ss

s
s

ss

s
s

s s
s

s

s
s

ss
s

s
s

s s
s

s

s
ss

s
s

s
ss

s
s

s

s
ss

s
s

s
s

s

ss
s

s

s
s

s
s s

s
s

s
s

ss
s

s

s
s

s
s s

s
s

s
s

s
s

s s
s

s
s

s
s

s
s

ss

s
s

s
s

s
s

ss
s

s

s
s

s
s

s
ss

s
s

s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s

s
s

s
s

s
ss

s
s

s
s

s
ss

s
s

s

s
s

s
ss

s

s
s

s
s

ss
s

s
s

s
ss

s
s

s

s
ss

s

s
s

s

ss
s

s
s

s
ss

s
s

s
s

ss
s

s
s

ss
s

s
ss

s
s

s
ss

s
s

ss

s
s

s
ss

s
s

ss

s
s

ss

s
ss

s

s
ss

s
ss

s

ss

s
s

ss

s
ss

s
ss

s

s

ss

ss

s

ss

s

ss

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

ss

s

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

sss

ss

sss

sss

ss

sss

ss

sss

ss

sss

sss

sss

ssss

ssss

ssss

sss

ssss

ssss

sssss

sssssss

ssssssss

sssssss

ssssssssssssssssssssssssssssssssssssss

ssssssss

sssssss

sssssss

ssssss

sss

ssss

ssss

ssss

sss

ssss

ssss

sss

ss

sss

ss

sss

ss

sss

ss

sss

ss

sss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

ss

s

ss

ss

s

ss

ss

s

ss

s

ss

ss

s

ss

ss

s

ss

s

ss

s
ss

s

ss

s
ss

s

s
ss

s
ss

s

ss

s
s

ss

s
ss

s
s

ss

s
s

ss
s

s
ss

s
s

s
ss

s
s

ss

s
s

s
ss

s
s

s
ss

s
s

s
ss

s
s

s

s
ss

s

s
s

s

ss
s

s
s

s
ss

s
s

s
s

ss
s

s
s

s
ss

s
s

s

s
s

s
ss

s

s
s

s
s

s
ss

s
s

s
s

s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s

ss

s

s

s

s

s

s

ss

s

s

s

s

s

s

s

ss

s

s

s

s

s

s

s s

s

s
s

s

s
ss

s
s

s
s

s
s s

s
s

s

s
s

ss

s
s

s
s

s

ss
s

s

s
s

s s
s

s

s
s s

s
s

s
ss

s
s

s

s
s s

s
s

s
ss

s
s

s

ss

s
s

ss

s
s

s s
s

s
s s

s

s
s s

s

s
s s

s

s
s s

s

s
s s

s

ss

s
s s

s
s s

s

ss

s

ss

s
s s

s
s s

s

s s
s

ss

s
s s

s

s s

ss

s s

s s

s

s s

s s

s s

s

s s

ss

s s

s s

s

s s

ss

s s

ss

s s

s ss

s s

ss

s s

ss

s s s

s s

s s

s s

s s

s s s

s s s

s s s

s ss

s s s

s ss

s s s

s ss

s s s

ss s

s s s s s

s s s s s

s ss s s

s s s ss

s s s s s

s ss s s

s s s s ss s s s s s s s

s s s s s s s s ss s s s s

s s s

s s s s s s s s ss

s s s s s s ss s s s s s s

s ss s s s s s

s ss s

s s s s s
s s s s s

s ss s s

s s s ss

s s s

s ss

s s s

s ss

s s s

ss s

s s s

ss s

s s s

s s

s s s

s s

s s

s s

s s

s s

s ss

s s

ss

s s

ss

s s

ss s

s

ss

s s

s

s s

s s

ss

s

ss

s s

s s

s

s s

ss

s s

s

s s
s

ss

s

ss

s
s s

s

s s
s

ss

s
s s

s
s s

s

s s
s

ss

s
s

ss

s
s

ss

s
s

s s
s

s
s s

s

s
s s

s

s
ss

s
s

s
s s

s
s

s
s s

s
s

s
ss

s
s

s

s
ss

s
s

s

ss
s

s
s

s

ss
s

s
s

s
ss

s
s

s
s

s

ss
s

s

s
s

s
s

s s
s

s
s

s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s
s

s
s

s
ss

s
s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s

s
s

ss
s

s
s

s
s

ss
s

s
s

s

s
ss

s
s

s
s

s
ss

s
s

s
s

ss
s

s

s
ss

s
s

s

s
ss

s
s

s

ss
s

s
s

s

ss

s
s

ss
s

s
ss

s

s
ss

s

s
ss

s
s

ss

s
s

s
ss

s

s
ss

s

ss

s
ss

s
ss

s

ss

s

ss

s
ss

s

ss
s

ss

s
ss

s

ss

ss

s

ss

ss

ss

s

ss

ss

ss

s

ss

ss

ss

s

ss

ss

ss

ss

sss

ss

ss

ss

ss

ss

sss

ss

ss

ss

sss

sss

sss

sss

sss

sss

sss

sss

sss

sss

sssss

sssss

ssss

sssss

sssss

ssssssss

ssssssssssssss

sssssssssssssssssss

ssssssssssssss

ssssssss

sssss

sssss

sssss

sssss

sssss

sss

sss

sss

sss

sss

sss

sss

sss

ss

sss

ss

sss

ss

ss

ss

ss

ss

sss

ss

ss

ss

ss

ss

ss

ss

ss

s

ss

ss

ss

s

ss

ss

ss

s

ss

ss

s

ss

ss

s

ss

s

ss

s

ss

s

ss

s

ss

s

ss

s

ss

s

ss

s

ss

s

s
ss

s

s
ss

s
s

ss

s
s

ss

s
s

s
ss

s
s

ss

s
s

ss

s
s

s

ss
s

s
s

ss
s

s

s
s

ss
s

s

s
ss

s
s

s

s
ss

s
s

s
s

s
ss

s

s
s

s
s

ss
s

s
s

s

s
ss

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s

s
s

s
s

s
ss

s
s

s
s

s
s

ss
s

s
s

s
s

s
s

ss
s

s

s
s

s
s

s
ss

s
s

s
s

s
s

s s
s

s
s

s
s

s
s

ss
s

s
s

s
s

s s
s

s
s

s
s

ss
s

s
s

s
s

s s
s

s
s

s

s
s

ss

s
s

s

ss
s

s
s

s

ss

s
s

s

ss
s

s
s

s

ss
s

s
s

s s
s

s
ss

s
s

ss

s
s

s
s s

s

s
ss

s
s

ss

s
s

ss

s
s

ss

s
s s

s

s s
s

ss

s
s s

s
s s

s

ss

s

ss

s
s s

s

s

ss

s s

s s

s

s s

ss

s

ss

s s

s s

s

s s

ss

s s

s

s s

s s

s s

s s

s s

s s

s ss

s s

ss

s s

ss

s s

ss s

s s

s s

s s s

s s s

s s s

s s s

s ss

s s

s s s

s s s

s ss

s s s s

ss s s

s s s ss

s s s s s

s ss s s

s s s ss

s s s s s s s

s s s s s s s ss s s s s s s

s ss s s s s s s s

h
s.2

0
 x 1

7


